H & 0l & AHS B Ml A
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= 44,960
Al 3,798,855
- 26,079,291
AXHE Ag 235 5,900,979 6,154,704 A253,725
= 1,200
- 5,899,779
FOIME et 723,242 807,760 A\B4,518
= A 2= RX2a] 384,088 477,929 /93,841
401 AlZHIZ S OHYI 384,088 477,929 A\93,841
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NAYSE HE L 2EY &)
8,910,000& 8,910
NAYS A2AME 1S HAZSEI(GP) M2
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)&Es Xstalod MsI| £X
13,616,000& 13,616
NEES 15 LUyA SZIHESA
19,850,000& 19,850
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33 Uiy g Hat
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NAxs2 HZEAE 29
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NAXE2 HEHAE dRFE
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11 dALEEIXIE S 2,520 2,520
1ALSIRE Abedib] 500,000 500
JEHl XSS, £ S) At
1,500,000 1,500
NHEEAIZ] SHH XS ALK
20,0003 2B 13 =S 520
Sl gsrud 28 #2485 12,130 10,830 1,300
201 er23 | 3,900 2,600 1,300
01 At2teltl 3,900 2,600 1,300
=4I 15,0002 x 102 *137H S+28] 3,900
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03 A= PR FA| 3,430 3,430
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33 Uiy g Hat
ol AKlgl2 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NEHS FLUXXIE AR TA
6,000,000& 14 6,000
405 AtatE = 3,510 5,068 1,558
01 ML ESFSHI 3,510 5,068 1,558
NaAs S 1 s FEUXNXE HED 7
380,000 *4H 1,520
1AZHAHE FOIRIRIE HHIW 2
310,000& *1H 310
DAZHAHE FOITIXIE HE
580,000 * 1K 580
Np2s FRXRE ARE My 2
800,000 1K 800
1g2s =TS AMRE A% 2L
300, 0002 *1H 300
30 #HE Dl 2= 310,900 315,371 N4
= 1,200
- 309,700
DAY 2 SN 2F 6,916 6,561 355
201 er23| 6,416 6,061 355
01 AtR2t2|HI 3,316 3,171 145
NEHE M 4,750 »3000H 1,425
NTUITHA MAIPIE g
70,0003 *7 490
eIty 82 ZAH 2,5002x20004 500
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1TQITHE Al&fAL SAH 23]
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)T A& AT Al
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NEI=O12E B30 1Al
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01 =LHA LI 953,280 950,400 2,880
NI1=2gRFa 0|
20,0003 *3312* 152 123 +80% 953,280
203 =4l 145,900 145,960 260
01 J122ggR=a| 87,100 87,100 0
)1 22HYRFAH 87,100
2)017 3ty ojet 6,600,0002* 1294 S 79,200
2)el7 82ty Dt 7,900,000 104 S 7,900
MU A2 LRSI 58,800 58,860 260
1)302! Olst 400,000 *7 4 S+ 122 33,600
1)25¢! 0|5t 350,000 x60H S+ 123 25,200
204 MPo-HAH| 23,400 23,400
01 MG HI=HAHH| 23,400 23,400
nsz 150,000 1304 S+ 122 23,400
QIR 2HHI(XXIHE D) 25,892 0 25,892
QIS 2| (XX E D) 25,892 0 25,892
101 @124H| 25,892 0 25,892
02 JIEtA 2= 25,892 0 25,892
DARIEERIDIH 2t3(35A12t) 25,892
2)Jl2ds 3,029, 720268 18,179
)= 10,4162 x30AI 2H+6E 1,875
)S+HRY
3,029,7202 *8/7+0.84+0.05+6 2 873
2)ZUZ Al 140,000 6 840
2)tE=E 160,000& +62 960
2)StE At
3,029, 7202 %0.84x0.86%1/30x1/7x77 A1 2+ 803




SA R E
B sE2oAY|
CHel: QI 2| (XIXIZE D) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2)HZExH] 180,000 +7/8x6E 945
2)E8E 1,417
ULEE=
4,400,000& *7.0%%+1/2+62 936
JNWILAEES
4,400,000 709 12. 95%+6 243
JnEEEE 4,400,000& 0. 9%*6 238
HeEs(XXIEE ) 8,000 0 8,000
LIS HHXIE 8,000 0 8,000
NENED IS HES 8,000 0 8,000
RISHES 8,000 0 8,000
UIPIETSE— 8,000 0 8,000
NOEAIIS BE3 8,000,000& 8,000




